2D fluid flow passing submarine, Vin =8.3 ft/s
Attack angle =10 degree

Time: 12 5

Time Step: 20 of 20

Fluid Nodal Velocity
Magnitude
iz

11.05254
0047288
8.842032
77368778
6631529
562627
4421018
3318762
2.210508
1.105254
a

Fluid Pressure
Ibfift"2)

72.53260
59.84316
&7 15272
34.98229
2177185
9021416
-3.809018
-16 29945
-25 95930
- GB032
-54.37076

Reaction F.n:lrce
bt

1015448
17 23903
L 15,32358
13 40513
¢ 1140260
0577234
FEE1TOL
574343
. 3.830206
- 1.015448.
0




e

Maximal =0.0426

10 1.200E+01 100.00 1.000E+00 1 5 2.976E-03c 1.016E-02

10 1.200E+01 100.00 1.000E+00 1 7 RIFv= 4.4E-07c

10 1.200E+01 100.00 1.000E+00 1 4 |RIFw= 9.3E-07c

10 1.200E+01100.00 1.000E+00 1 50 |R/Fjp= 2.0E-02

10 1.200E+01100.00 1.000E+00 1 100 |R/Fjp= 1.6E-03

10 1.200E+01100.00 1.000E+00 1 138 |R/Fjp= 7.8E-07c
1

10 1.200E+01 100.00 1.000E+00 6 2.658E-03c 8.073E-03c

WWWwwwww

**** Exit Time Loop ****

Fhhhhkhkkkkhkhkhkhihhhkhkhkhhhihiihiiiikk

SUCCESSFUL RUN COMPLETED

*hhhhkhkkkkhkhkhkiihhkhkhkhkkhkhiirhikiixixk

**** Space used = 26094.652 (Kbytes)

**** Input file name:
**** Job finished: 03-14-2008 11:52:46

**** Total elapsed time = 1.55 (Minutes)

Stress
von Mises
b2

0.004
0000900012
0.0002000244
0.0007000361
0.0006000451
0.0005000601
0.0004000722
00003000542
0.0002000962
0.0001001083
1.202843e-007



